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i QUESUONS are CompUisSory
(1) This question paper comprises 35 questions /8 =
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(1) This question paper is divided into five sections A © -

) ) GUESTIONS Eanh auection ~rarriac 4
(iti) Section-A-Question No. 1 to 20 are Multiple &7 ce QUethions. Caon guestio rries 1

o
mark.

(iv) Section B-Question No-21 to 26 are very short anNEwer type questions caries 2 marks
®ach. Answer to these questions should be in 1€ 275 93010 50 words

V) Section-C - Question No. 27 to 33 are short 815%E" '/E€ tuesions Each Answer carries
3 marks. Answer to these questions should in 118 73722 27 51 10 50 worns

vi) Section-D - Question No-34. to 36 are long 8NSWeT [yL& Suestoms Za20n question camies

S marks. Answer to these questions should D€ N 1N r2n22 oF 80 10 120 woras

vii) Section-E - Question No-37 to 39 are of SOUTCE Dased zusston/Case based units of

assessment carrying 4 marks each with sub-pans

viii)There is no overall choice. However, an internal choica has been Drovides in s0me section
Only one of the alternatives has to be attempted in such qusstors
Section-A
Select and write the most appropriate option out of (he “0ur oot ons given for each of the
question no 1 to 20.
1. Among the following, matter is?
a) Heat D) Smell of perfume C) magnetism &) Sound
2. The heat energy absorbed during change of the srate of 2 $0/¢ &t s melting paintto liquid

at atmospheric pressure is called

a) Latent heat of fusion b) latent heat of vapol
c) Specific heat d) heat of solution

3. Identify the conditions under which air 1s liquefied™

a) Low temperature, low pressure B) High temperature. 1ow pressure

c) High temperature, high pressure Q Low temperature high pressure



A mixture of sulphur and carbon di-sulphide 1S

» ) us and st lynaa
a) heterogeneous and shows Tyndali effect o) hiopgeRce '

¢) heterogeneous and does not show Tyndall effect

d) homogenous and does not show Tyndall effect o
ade by dissciving

! Tincture of lodine has antiseptic properties. ThiS solution Is M
a) lodine in potassium iodide o) lodine in vaseling
c) lodine in water d) lodine in alcond!
6. Chromosomes are made up of
a) DNA b) proteins ¢) DNA and proteins d) RNA
7. Cell theory was given by
a) Schleiden and Schwann b) Virchow c¢) Hooke d) Hascks
8. Lysosomes arises from
a) endoplasmic reticulum b) Golgi apparatus C) nucleus
d} mitochondra
9. Voluntary muscles are found in
a) Alimentary canal b) imbs ) Ins of eye d) Bronchi of lungs
10. Nerve cell does not contain
a) Axon b) Nerve endings ¢) Tendons d) Dendrites
1. Flexibility in plants is due to
a) Collenchyma b) Sclerenchyma  ¢) Parenchyma d) Chicrenchyma
12. A speed of 36 km/h is equivalent to
a) 10 mis b) 100 m/s c) 1000 m/s d) none of these
13. A cyclist moving on a circular track of radius 40m completes half a revolution in 40 sec. it

average velocity is
a) Zero b) 2 m/s c) 211 m/s d) 4T m/s
14.  Out of mass, velocity, momentum and force which one is not a vector ?
a) Mass b) Velocity ¢) Momentum d) Force
15. A heavy object is at rest. It's linear momentum is
a) Small b) large ) zero d) cannot say

16. The correct relationship between 9and G
GM ~

a = BYG = gM P :GM
)= T+ 0g=6 A =
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(B). {C). (D) as given below
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\"“ Both Assertion (.'\\ and Reaaon (13) oo Viier ssiot) Prossameerg 187

the Assertion (A)

(B) Both Assertion (A) and Reason (R) aret LU0 Al PR esnsdny (87 06 144 0 & )60 L0 50 @0
of Assertion (A)

(C)Assertion (A) s true, but Reason (1) 15 1n]6e

(D) Assertion (A) s false, but Reason (12) is true

17 Assertion (A): The smell of hot sizzling food reachios 1% e g

L 7

Reason (R): Due to random continuous motion, the frod pattes oy 4y witr e 2
particles and reach us

18. Assertion (A):- An animal cell when present in a Fwettmm r joo00 © v i Lwis *
Reason (R): More water molecules enter the cell than trhizy 2z /2

18. Assertion (A): Every body lestits weight at the centre of ez~
Reason (R). At the centre of earth, g = 0.

i o
2W T OO

n

20. Assertion (A), Newton's second law of motion is called the

Reason (R) : Both the first and third law of motion are ceniz ~e2 ™ % s2C0N0 3w O
Motion.
Section-B
Question no-21 to 26 are very short answer type questions
21. Give reasons ; We can easily move our hand in air but 1o ¢o the sa™e 170ug" 2 S0C
block of wood, we need a Karate expert.
OR
Why are we able to sip hot tea or milk faster from a saucer rather than a cue?”
Sample ‘A boits at 100°C ang

22 You are given two samples of water Jabolled as "A" and '®® ¢
sample 'B' boil's at 102°C, Which sample ol watet will not freeze al O'C

SN DaAammh AT
SN <

o " y cell? Why?
Which organelle 15 known as the powor houso of the v N\

N
W

OR

List two similantios betwaen rpitochondria and plastids
2 )

artilage and bong (any twedifferences

24 Differentiate betweoan |




25, Itis easier to stop a tennis ball than a ¢ricket ball Moving with the same speed, Whny?
6. Atrolley, while going down on inclined plane, han an m:f-.;;l«amtébbf 7 cmfs? starting from
rest. What will be its velocity 3s after o start
Section-C
Question no. 27 to 33 are short answer type quostions

2; Out of solids, liquids and gases, which one Nas.

(a) maximum movement of particles. (b) maximum Inter particle forces of attraction

(¢} minimum spaces in between constituent particles.
Give reason for each also.
28.  How are sol, solution and suspension gjfferent from each other?
28.  What are the consequences of the following conditions?
(@) Acell containing higher water concentratjon than surrounding medium.
(b} A cell having low water concentration than the surrounding medium.
¢) A cell having equal water concentration to its surrounding medium.
30. Draw neat labelled diagrams of all the three types of muscle fibres.
31.  Write any three differences between Parenchyma and Collenchyma.
32. Whatis Newton's 2nd law of motion ? Derive its mathematical relationships ?
Differentiate between scalar and vector physical quantities ? (at least_tﬁve points)
b; What is free fall ? S
(Section-D)
Question no. 34 to 36 are long answer type questions.
34, Nnat is evaporation ? How does it differ from boiling ? Explain the vanous factors on
which evaporation depends.
OR
z, Classify each of the following as physical or chemical change WVETSRI0NS.
{i) Drying of a shirt in the sun.
(ify Churning of milk cream to get butter
(iii) Burning of kerosene in a lantern
B) Tomake 4 saturated solution, 36 gm of goditm ohlotde (8 dissolved 100gm of water at

293K, Find the concentration at thig tornp

w

Draw a plant cell and |abel the parts whjch
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conthatih
(@) determires the function and develobhMent o g, -

(0) Packages matenals conung from the *Ndoplaamie | il
- o C reliculum

(C) proviaes resistance to microbes and © Withstang Nypotonic extemal media with oot §
ale 5 & 13 inedia with oot Barating
OR

What is connactive tissue™? List thell tvpea. Explain three diffarances betweaen lendons

and higaments
on? Write its Mathomatical form What is the value of "¢

36 What is Universal law of gm\nmh

& also detine it
OR
’\ALEYp{mn”‘tn“ﬁt‘mnts"mr‘s-kaw-oﬂ‘*ﬁ""“ﬁfv‘ motion. Qb Vv g evd (/o 3 pan)
(1) It action is always equal to the eaction, Explain how a horse can pull a cart
Section - E
Question no. 37 to 39 are case based/ data based questions

Three common states of matters are . Solids, liquids and gases One slate of matler can

applying temperature or pressure or both Whenaver a solid s

[97]
o4

be convertad into other by

heated, it first gets converted into liquid and finally into gaseous state. Similarly, when a

liquid is heated, it gots converted into the gaseous state Conversely , gases can be
converted into liquids by cooling under pressure.

a) Which properties of matter decides three states of matter

b) Define latent heat of fusion.

c) Define latent heat of vapourisation.

What is the effectitemperature and pressure on the state of matter.
stematic tissues and these become

38. In the plants, permanent tissues originate from meri
ure cells that have

1e plantbody. They are made up of mat
hese permanent tissues possess

and they may be living of

permanent at fixed positions in tt

undergone growth and differentiation cells of t
o lost their power of division

definite

shape, size and function. They hav

dead.
Such tissues are classified are simple and complex tissues.

a) Which simple tissue is used for making ropes?
b) Name the two complex plant tissues. What are these commonly called ?

¢) Name the tissues which are responsible for the following -
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i) bringing flexibility in plants

i) making plants hard and stiff,

What are components of Xylem.
. i aleration, the equatons
When a body is moving along a straight line with uniform accelora

which govern this motion are RN

() V=u+ at

i) S =ut+ Lat®
o

-

ess 2 >
jii) V<-u~=2as ™

The symbols how standard meaning

These equations can be obtained analytically. They can also be deduced from velocity

time graph.

In uniform circular motion, a body travels equal distances in equal interval of time over a

circular path. The direction of motion at any instant is along the tangent to the circular path

at that time. Therefore, velocity of he body changes at every instant. Obviously uniform

_-circular motion is an accelerated motion,

a) A body is moving uniformly along a straight line, what is zero ?

Read above paragraph and choose the correct option & answer the following questions.

pu=a R)#=1 c)F=0 d)a=0 \
b) Time taken by seconds hand of a watch to go once around the circle is : \
A) B0 sac b) 30 sec c) 12 sec d) none of these \
c) Distance travelled by a body in 10 seconds and in 10th second is the same. \
True/False
d) Abody starting from rest is Moving With a constant acceleration a = 10 m/s? the distance \3
travelled in 5 sec is \,\\‘;
a) 125m b) 120m ' ¢) 135m d) 25m N\
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